
ESTRUCTURA : GRUPO RUEDA TRASERA	
 

GRUPO RUEDA TRASERA 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

 

Ref. Título Código
1 AJUSTADOR CADENA 9-61411
2 CORONA 9-29521
3 MANCHON 9-64411
4 BUJE CENTRO CORONA 9-64314
5 BUJE IZQUIERDO, RUEDA TRASERA 9-64313
6 MAZA RUEDA TRASERA (TAMBOR DE

FRENO)
9-64620

7 RAYOS EXTERIORES 9-64640
8 RAYOS INTERIORES 9-64630
9 PORTACORONA 9-29511
10 MANGA INTERIOR RUEDA TRASERA 9-64211
11 RETEN 9-hg4-6
12 LLANTA RUEDA TRASERA 9-64611
13 CUBIERTA 9-64700
14 TUBO 9-64800
15 PROTECTOR RAYOS RUEDA TRASERA 9-64911

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo rueda delantera 1.png


ESTRUCTURA : GRUPO RUEDA TRASERA	
 

Ref. Título Código
16 TORNILLO M8 X 32 9-GB/T5-11
17 TORNILLO M16 X 15 9-GB/16
18 TORNILLO M12 X 1,25 9-GB/61
19 CONJUNTO LLANTA TRASERA 9-64600
20 RETEN 9-HG4-6-1
21 TUERCA M6 9-GB/61-1
22 ARANDELA 6 9-GB/T9-28
23 ARANDELA 6 9-GB/T9
24 RODAMIENTO 160301 9-GB279
25 RODAMIENTO 160301 9-GB279
26 CONJUNTO RUEDA TRASERA ARMADA 9-64000
27 CONJUNTO PORTA CORONA ARMADO 9-29500
28 CERRADURA DE BLOQUEO 9-29532
29 AJUSTADOR CADENA 9-61400-1

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

                        2 / 3



ESTRUCTURA : GRUPO RUEDA TRASERA	
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

  

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

